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Instructions :—

The paper consists of two Parts A and B. Part A is of
40 marks and Part B is of 35 marks.

All questions are compulsory.
(1) For Regular Students Part A only.

(2) For Students of Cat. ‘B’ both Parts A and B

are compulsory.
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Attempt all questions.
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Part ‘A’ (¥Rt ‘@)

1. Write True ot False for the following statements with
reasons :— '

(i) The Decimal Equivalent of the Binary number
1010011 is 100.
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(i) The full abbreviation of TCP is Transmission

Control Province.

(iii) Hardware and software are complimentary to

each other.

(iv) The CPU consists of control unit and Arithmetic
Legal Unit.

(v) Tally is a system software. (10)
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2.  (a) What is an Operating System ? Explain the various
functions of an Operating System. (5)

(b) What are Internet Search Engines ? Discuss the
procedure used by Internet Search Engine to

access the Internet. (5)
P.T.O.
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OR

(a) Discuss the various types of computers on the

basis of size ? ' (5)
(b) What is E-mail ? Explain the utility of E-mail. (5)
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3. (a) Explain the different types of text alignment in
MS-WORD. (5)

(b) What are the advantages of previewing a
worksheet before printing ? Give steps for printing
a worksheet. %

OR
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(a) What is the difference between ‘Replace’ and
‘Replace All’ in ‘Find and Replace’ operation in
MS Word. (5)

(b) How can you insert, delete and rename a sheet

from .your workbook ? (5)
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4. (a) Explain the following functions :—
(i) ROUND (ii) OR (iii) STDEV (5)

(b) What do you mean by handouts, speaker notes
and outlines in PowerPoint ? Why are they used ?
(5)
OR
P.T.O.
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(a) Explain the following functions :-
(i) PMT (ii) IPMT (5)

(b) How can an object from the Clipboard be added
to a PowerPoint slide ? (5)
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Part ‘B’ (WM ‘@’)

5.  Write the steps to insert a chart in MS-Excel ? Discuss

any two types of charts. ' (N
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6. (a) The following data is entered in MS-Excel :—

A B C

1 | Roll No of Students | Marks (out of 100)

2 | 601 80

3| 603 90

4 | 606 ' 45

51609 75

6612 40

7

Write a function to display the maximum marks in
cell C1, minimum marks in cell C2, average marks
in cell C3, modal marks in C4 and total marks
obtained by all the students in cell C5 of excel
worksheet. (7)

(b) Generate 50 random numbers between 1 to 100

using appropriate function in cell A1:E10. Find out
the average and standard deviation in cell A12
and A13 respectively after fixing the value. Given:
Tfx? = 362 in cell Al4, $fx = 128 in cell Al5 and
n=217 in Al16. Calculate Standard deviation for
the grouped data in cell B16. (7N

OR
P.T.O.
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(a) Give the results of the following functions :—

(1) =Round (-2.149, 2)

(2) = ABS (-4.369)

(3) = SQRT (~16)

(4) = ROUNDUP (-7.86945, 1)

(5) = ROUNDDOWN (3.29763, 3)

(6) = AND (1+2=3, 2-2=0)

(7) = OR (1+2=2, 2—2;1)

(7

(b) Differentiate between Absolute and Relative cell

(+)

referencing with the help of suitable example. (7)
AR - T A i sifes wfie e g @
A B C
1|3 & FIgwEs F (100 % ¥)
2 {601 80
31603 90
4 | 606 45
5609 75
61612 40
7
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(%) Prafofeq wo & Ted TAEe
(1) =Round (=2.149, 2)
(2) = ABS (—4.369)
" (3) =SQRT (-16)
(4) = ROUNDUP (-7.86945, 1)
(5) = ROUNDDOWN (3.29763, 3)
(6) = AND (1+2=3, 2-2=0)

(7) =OR (1+2=2, 2-2=1)
P.T.O.
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7. (a) A person takes a car loan of 600000 @ of 10%
p.a. for a period of 10 years. The information is

displayed in excel -

A B C
1 | Amount of Loan 600000

Rafe of Interest .10 p.a.

Period 10 year

Wil ] W

Write an appropriate formula in MS Excel to

compute the amount of installment and principal

repayment for 5" year in cells B4 and BS5

respectively. @)
(b) The following data is entered in MS Excel -
A B C D E F
1 |Name of |Category | Basic | DA | HRA | Total
Employee Salary Salary
2 | Akash A 20000
3 | Ankit A 19000
4 | Rahul B 6500
5 [Raman B 11000
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(i)

(i)

11

The employees are paid dearness Allowance
(DA) as per the following rule :—

Basic Salary <8000 DA is paid @ 10% of
Basic Salary

Basic Salary >8000 | DA is paid @ 12% of .
Basic Salary

Subject to a maximium amount of Rs. 15000

to each employee.

The employees are paid House Rent
Allowance (HRA) as per the following rule ;-
The employees are paid House Rent
Allowance (HRA) a 12% of basic salary for
category A employees and @ 15% - of Basic
Salary for category B employees.

Write an appropriate formula in cell D2, E2
and F2 to compute the DA, HRA and total
salary. @)

OR

(a) Following are some of the property values and the

commission earned by the agents on the properties
respectively displayed in MS-Excel. Calculate the
sum of the commissions earned by the agents for
the property values over 15,00,000. )

P.T.O.
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A B
1 Property Values Commissions
2 10,00,000 10,000
3| 1200000 12,000
4 15,50,000 15,500
5 17,00,000 17,000
6 18,90,000 18,900

(b) The Balance sheet of M/s ABC Ltd for the year
ending 2009 is given :

A B C .D
1 | Liabilities | Amount | Assets Amount
2 | Creditors 1,26,000 | Cash 31,000
3 | Bills Payables 1,90,000 | Inventories 1,45,000

4 | Qutstanding Expenées 25,000 | Fixed Assets | 1,65,000

5| 341,000 | 3,41,000

Write formula in B6 and B7 to calculate Current
and liquid Ratio in MS-Excel. @)
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2 | 3meRra A 20000

3 |sifeha A 19000

4 |wge B 6500

5 | B 11000
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A B

1 wufer e AT
2 10,00,000 10,000
3 12,00,000 12,000
4 15,50,000 15,500
5 17,00,000 17,000
6 18,90,000 18,900 -

(@) 2009 & T B A A9 & fog Aaet A ffes
& gt o R mn R '

A B C : D

2 [oFeR 1,26,000 | g | 31,000
3 |3a fa 1,90,000 | e 1,45,000
4 | 3w = | 25,000 | fer wfREafar| 1,65,000
51 | 3,41,000 3,41,000
6
-7

P.T.O.
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